

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 140864

Invoice Date: Jan 13, 2014

Page:

1

Customer ID	Field Ticket #	Payment Terms		
Shak	62529	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Oakley	Jan 13, 2014	2/12/14	

Quantity	Item	Description	Unit Price	Amount
1.00	WELLNAME	Biel #1-17		
180.00	CEMENT MATERIALS	Class A Common	17.90	3,222.00
3.00	CEMENT MATERIALS	Gel	23.40	70.20
6.00	CEMENT MATERIALS	Chloride	64.00	384.00
194.64	CEMENT SERVICE	Cubic Feet Charge	2.48	482.71
444.00	CEMENT SERVICE	Ton Mileage Charge	2.60	1,154.40
1.00	CEMENT SERVICE	Surface V	1,512.25	1,512.25
50.00	CEMENT SERVICE	Pump Truck Mileage  JAN 2 7 2014	7.70	385.00
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
50.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	220.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	CEMENT SUPERVISOR	Andrew Forslund		
		9		
				il E
		10502-5	1	
		70 220 123		
_		Outstate		7 705 50

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,926.39

ONLY IF PAID ON OR BEFORE Feb 7, 2014

Subtotal	7,705.56
Sales Tax	299.61
Total Invoice Amount	8,005.17
Payment/Credit Applied	
TOTAL	8,005.17



# ALLIED OIL & GAS SERVICES, LLC 062529 Federal Tax I.D. #20-8651475

REMITTO P.O. BO		••		SERV	ICE POINT	
20019	ILAKE, TEXAS 760	92			Dak	lay to
DATE/-13-14	SEC./7 TWP.77	RANGE 34	CALLED OUT	ONLOCATION	IOB START	JOB FINISH
LEASE BIEI	WELL# /-/7		e. 5.58	to Rd 215,	COUNTY	STATE
OLD OR VEW CI					Scott	1 72.
one orderingen		1 / 19 00,	12 N, W	40.70	}	
CONTRACTOR	HP 42		OWNER -5	- america		
	Scirface			· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	
HOLE SIZE	12 /S/ T.D.	266	CEMENT	16.		_
CASINO SIZE		TH 2661	_ AMOUNT O	RDERED 180	S/B Car	1 398CC
TUBING SIZE DRILL PIPE	<u>Dep</u>			ogal		
TOOL	DEP			<u> </u>		
PRES. MAX	DEP	IMUM		100000	170	24 42
MEAS. LINE		TAION 30	_ COMMON_			322200
CEMENT LEFT IN		C JOHNI	_ POZMIX _ GEL	3061	@ <u>73,40</u>	20.20
PERFS.		····	CHLORIDE			388.00
DISPLACEMENT	16,06 66	2/	_ ASC		.@	00.3 40
	EQUIPMENT				@	
					· @	· ———
PUMPTRUCK (	CEMENTERLAK	one & war	£		@	
# 423/281	HELPER Auch	rew Forsky	·	····	_@	
BULK TRUCK			<del></del>		_@	• F************************************
#8/8/287 I	DRIVER Jaa	Maudaz(	TZUS)		_@	
BULK TRUCK			~~ <i></i>		_@	
# [	DRIVER		HANDI ING	19464543	· 2 276	78291
				1.88 DOX 50		
	REMARKS:		MERAGE			
1231 180	5/3 Cam	~ <del>/</del>			TOTAL	,531331
7	e confre en		_	40000		
Cainate		u late.	<del>-</del>	SERVIC	CIC .	
			DEPTH OF I	IOB		
				CK CHAROS		1512,25
·			EXTRA FOC		@	210000
<u> </u>			_ MILEAGE _	MITHU SO	10 7,20	385,00
	THE	ME YOU	- MANIFOLD	Swage	@	295,00
	, , ,	•	MILL	/ <u>5</u> c	@ 4,40	270,00
7	1.1.	257			.@ <u>_</u>	
CHARGE TO: 22	The hakespea	recij	_			<b></b>
STREET					TOTAL	<u>,7372,75</u>
• •			_			
CITY	STATE	ZIP		PLUG & FLOAT	FOURTHANDS	JT.
•				I DOG & FLOM	nara moya	1.1
			·	·····		
The A 111- 3 Oct 0. O	)a			·····		
To: Allied Oil & C						
	quested to rent cem					
and rurnish cemen	iter and helper(s) to	assist owner or	**************************************		_	
	ork as is listed. The				TOTAL	,
	n and supervision o read and understan				IOIAL	· ———
	neau and understan NDITIONS" listed			(If Anv)		
A DRIVING MAD CO.	DOUGH CHICKEN	on the reverse side	,	RGES 7,70	T 50	<del></del>
			TOTAL CHA			<del></del>
PRINTED NAME.			DISCOUNT	<u> 1,926.39</u>	IF PAT	D IN 30 DAYS
	7 15	10				
SIGNATURE _	5/20/1/	b.A.		5,779.1	, Mer.	
	<del>~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~</del>	V. //_/	<del></del>			



PO Box 93999 Southlake, TX 76092

Voice: Fax:

(817) 546-7282 (817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

# INVOICE

Invoice Number: 141036

Invoice Date: Jan 25, 2014

Page:

Customer ID	Field Ticket#	Payment Terms		
Shak	61848	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-03	Great Bend	Jan 25, 2014	2/24/14	

Quantity	Item		Description	Unit Price	Amount
	WELL NAME	Biel #1-17			
162.00	CEMENT MATERIALS	Class A Common	INT	17.90	2,899.80
108.00	CEMENT MATERIALS	Pozmix	(101	9.35	1,009.80
9.00	CEMENT MATERIALS	Gel		23.40	210.60
68.00	CEMENT MATERIALS	Flo Seal		2.97	201.96
290.01	CEMENT SERVICE	Cubic Feet Charge		2.48	719.22
604.50	CEMENT SERVICE	Ton Mileage Charge		2.60	1,571.70
1.00	CEMENT SERVICE	Rotary Plug 🗸		2,483.59	2,483.59
50.00	CEMENT SERVICE	Pump Truck Mileage		7.70	385.00
50.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	220.00
1.00	VI COOK THE CONTROL WAS AND THE	Dustin Chambers	וטובשובטט מו		
	EQUIPMENT OPERATOR	Ben Newell			
	EQUIPMENT OPERATOR	Daniel Casper	LIL EED O a		
			FEB 0 3 2014	1 1111	
			116 7 51 51		
				TU	
			10000-5		
			10502-5		
		Cubtotal		1	9 701 67

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,940.33

ONLY IF PAID ON OR BEFORE Feb 19, 2014

Subtotal	9,701.67
Sales Tax	790.69
Total Invoice Amount	10,492.36
Payment/Credit Applied	
TOTAL	10,492.36



## ALLIE OIL & GAS SERVICE, LLC 061848

Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999

Than K You'll

SERVICE POINT:

	LAKE, TEX	XAS 760	92	•				Great	Bendits
DATE 1-25-14	SEC.	IWP.	RANGE 344	CALLE	TUO O	ON LOC	CATION	JOB START	JOB FINISH 8:00 AM
	WELL# /-	-17	LOCATION Penc	e 5	1/2.5	1/24	_	COUNTY	STATE 45
OLD OR NEW (Cir	rcle one)		1 17 .7 .	vro		***		_	. ,
CONTRACTOR	H D D	4///n	<u> </u>	<u>'O</u>	WNER				
TYPE OF JOB /	20101	Plya.							
HOLE SIZE /2	My V	T.D	•	C	EMENT		27.	51/20 1	/ 1
CASING SIZE 6	3/45	DE	PTH	A	MOUNT OF	DERED	<u> </u>	15105 68	24 C/095 A
TUBING SIZE	<i></i>		PTH		1040	124	Tiga	1 Vu flo	
DRILL PIPE 4	12	DE	PTH 2490						
TOOL			PTH			นา		7 94	2.899.8
PRES. MAX			NIMUM		OMMON		2	_@ <u>  /./O</u>	7078
MEAS. LINE		SH	OE JOINT		OZMIX	<u> </u>		_ @ <u> </u>	1.009.80
CEMENT LEFT IN	1 CSG. 🗡	<i>}//</i>			EL				210.60
PERFS.		,			HLORIDE _				
DISPLACEMENT	fresh	44923	partie h		SC		101	@ <u></u>	3. 96
	EQUI	PMENT	•		1000c	<u> </u>	૯૪		201.96
				_				_@	-
PUMP TRUCK	CEMENTE	R Pu	TILL Chamber	<u>-</u>					
			Nevell	_					
BULK TRUCK	TIDOL DIC	1-/5-1-	/						
# /012/10	DRIVER ,	Dun 6	105 Der	-					
BULK TRUCK	Ditti ( Dit )								
#	DRIVER			-	IANDLING	294	ठा	_ ๊ <u>๛ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ ฺ</u>	719. 32
				— F	AILEAGE L	7/0.	50.5		- <del>1.571.2</del> 9
		1ARKS:		I.	AILEAGE A	2.07 X		<u>, , , , , , , , , , , , , , , , , , , </u>	L 6.6/3.9
6.11 hake 1 42490-50 2,1550- 9	VI-/	z m	/d				SERV	······································	
3, 750-50	5 F3	·			DEPTH OF J		<u> 249</u>	0	
U, 290- 4					PUMP TRUC		RGE	2,483.	.47
5, 60- 20					EXTRA FOO				_ <del></del> _
6, RH- 30		,		1	MILEAGE_	HUM	<u>50</u>	<u>@ 7·70</u>	385.00
1/49/00	w 7	130 A	<u>^</u>	<u> </u>	MANIFOLD			@	220.00
1 '	•			-		Your	50	@ <u>4.40</u>	<u> </u>
	7 .		,	-				@	
CHARGE TO:	Sho Kesi	DROYE	- 0, 1						1 3.088.
• · · · · · · · · · · · · · · · · · · ·	//							TOTA	1 2.000
STREET									
CITY	ST	ATE	ZIP	<del></del>		PLUG	& FLO	AT EQUIPMI	ent
								_@	
								@	
			_						
To: Allied Oil &	& Gas Serv	ices, LL	C.						
You are hereby	requested (	to rent c	ementing equipme	ent		.,			
and furnish cen	nenter and l	helper(s	) to assist owner o	r					
contractor to do	work as is	s listed. Ipervisio	The above work von of owner agent	vas or				TOT	AL
contractor I ha	ive read an	d under	stand the "GENER	RAL					
TERMS AND	CONDITIO	NS" lis	ted on the reverse	side.	SALES TA	X (If Any	)	. 67	
					TOTAL CH	ARGES	9.70	<u>١٠</u>	
	NO	1	9 /2		.0.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		1.95	10,33	
PRINTED NAM	E	45 <u> </u>	Robers		DISCOUN	T	7.7%	IF I	PAID IN 30 DAY
SIGNATURE	$\propto$ $_{k}$	lous	Kolus	_		/-	14	· · · · · · · · · · · · · · · · · · ·	